RMpFREAEpFRe 241068 2T 1R A(FETFASRVB)ELA L4
106 # 57 5p ket i € € RF RS
106. 05.09. Fezfizt | & %3
106.05.23. fc A2 L R aé'i'zi 106.6.15.?}’(:1}%
107.12.13. 342 % f € k% 108.1.10. %7+ € K %
109.12.10. fc A2 L R g%‘ii 109.12.17.?}’(52»@35’;%=
110.05.25. #2342 % B ¢ :k % 110.06.15.37% § 3R F ik
- & r E g R v B
B | TEY 5 TEY +EH | TEY +EH | TEY
P [ErearEreE| P ErpEer P ErpEepr] P mErpERE
Sl v (A |y s sl | ¥ ale |4 |y A ]y | sy
L4030 8 4)
M > (- )33 Bt 4|2 |2 e @A |2 |2
S - ¥ (-)]2 ]2 ok 3 A 2 2 #ove il kA |2 |2
FrRAEC)H)L]L £ 2 & s a2 |2 o7 A 2 |2
By it(-)2 2 w7 (= )0 |2
£ o 7 F1 1 BT (r ) 0 2
PAARKTELYA() |0 |2
# v (- )02
FieopdrakT(-)[0 [0 [1
B~ (=) 313
S - F=2 (D) 2 |2
B2 (D) 11
e ii(2) 2 |2
5 R & 11
YAAPRTASVAL) 0 |2
BT (=) 0 |2
¥R ERIRT(2) 001
i3
= 9(13| 1| 9[13] 1|3+ 4| 6| o 2| 4| 0|3 4| 4| of 2| 2| o|]3* 0| 0| 0| of of 0
A#EF P (18§ ~)
B A (- )3 3 1 q (-)3 |3
B A (Z) 313 12 (2) 3 [3
¥ 2 (- )33
p 2 () 33
3t 6] 6] o] 6] 6] o[z 3[ 3] o] 3] 3] o[)¢ o[ of of o] o] o]z ojo[olofoo
BEPPEEA)
GERFF A2 13 T+ & (- )33 F Ak ia(-)[2 6
FE Y 2133 = & (=) 3 3 2 x(2) 2 6
TR % (- )33 A CRE
TR E (=) 3 3 T REK 3 |3
TFRY(-)2 13
TF RV (2) 2 1 [3
ML R Y 2 113
[ ] sk 3 |3
|2+ 2 13213 10[8 [6 [11]10]3 5 6 |5 6
* MARKTITYA(E) 1] 2 WoTOE 312 12 woT & 12 12
g FRBHTIEVR() 1|20 [2@sxiiiva@)| 1|20
i3
2 iy 4P & A pFi18(21| 4 18|21 4 17(17| 6 |16(17| 3 9|7|6|7[5|6




EFB g R fql 1068 ERR 1M (RERT ARRY B)F A5 7

-5 F-Hae e Yo HE
(NN EETN SN I SRR EET ST I SO EE T ST I SN EE TR T
Flr (s |(g|z|? Flr |9 |F |z |F Flr |7 |82 |7 gl |7 |%|2|F
Alaely |~ ]|y EIR SR IR EIRE: AV A Y
B~ VLSl (3 (3 ML R AL |3 b s s TR
::,va LTE RS [3 [3 TEAE R ;3 3 ¥l gNiEsr|3 |3
O FPGA i 3% 3|3 |3 M ARTERY (3 [3 AN TR ES 3 3
o EF ey T 33| |[BaAfRRER 33| |LEDS®BRERY 33
e > 4ICH A 33 TNl 33
L HEHE 57 33| |3&PCBRT 3 13
# Ko AMLRRT 33
i
W~ F e K3 |3 R JERE P B AAS |3
W& HIARMA 2 |1 |3 YRR o R CRE
% W AR T 2 |1 3 30 peeurm3 |3 L % @ w33
I ; Miqekg (3 |3 BB R OB 3
# A2 €Ak RS 33 kg gy 312
5 Fipages 33
i N 3 3
e 3D # & # i 3 3
B k g < @ 33
5 PR RRLE LAY 2|13
T~ 1 4 B X33 xmw 224%02 1 [3 T &t |3 |3
. l%f“ﬂ£33 PLCR" % 213 emurTa3 3
2B 15 KLkt 10 2 1304 &« w433 MPpREEFA[2 1 [3
o8 X?F%%fﬁﬁﬁﬁl 33| |gMZhanrin 213 x 1 o £ 303
A T4 TFH33 PHNTRR 33
o R G ]| 3|3 HLFASLIFTRY 3|3
ff_ P rRLE  hE Y 2 |1 |3 |f+AsRRe4kiEd 3|3
£
g
%z
-~ BETURBE 12854 [ 83%‘3&\ P EB T VA EA(HY 20T gj‘;g%‘;éﬁ@ 30 # 4)) -
SN En bt AR ER B4 T CRER 21 ?/»\ NEETM %m%‘?/’a\( ErnHAR) ARG B-E N TR .
;}'T"':'"’ ;ﬂtﬁiﬁr B A2 ‘vlﬁfﬁtfi’ BRI CEZM o
R %ﬁﬂiéﬂﬁﬁﬁ.§4“'iﬁf21§9 ROEE TP RhE (7 Fongir) A R AR S PR B AR -
;}'T"%"’ pﬂtfiﬁr *E AR ‘Vl-ﬁfﬁtfi’/?_L VEZM o
EFETIASRRIER I EATIOLEEF2ELS N ER 7R E L (7 2 2 THAR) 0 ARG BE L EEER .
#“Ta*ﬁpﬁﬁﬁamg%ﬁ’345”~ﬁo
I \flvijgféﬂqﬁipsfl}’151’[!)\_5.—*‘7»:\/.@‘13‘5\%?’“}0
SR L SRRt N LY *ﬁwi“ﬁﬁrmm%ﬁJﬂﬂﬁiﬁ’ﬁﬁiiiﬁﬁdﬁo
SR EBEFE S RS RBEAFRZ TR 2B SHEE2 AR
*‘iﬁfﬁir@iﬁé%ﬁ*ééiJvﬁ?mﬁJWWﬁéliiﬁﬁ#éJWW%aﬂaﬁgﬁwo
4 TR | Sz A AR B4 2 bb%ﬂ”o
LA R ER G AE 2 FAEE 0 7 'wﬁ; i3 3% o
¢—~§@ﬁﬂ?m*$a%\#§§&&£P%%& 3§W*§mo
—L:\ﬂ\%’\'é%——‘i’ﬁf,\ﬁ’lpk,af’% FH L (H) B2 REFTRFTAEZ LY o
Lz EBFEYF SRR -
T cHBKTEFRYTERL TEREREE FAEK(PF) F280 28R 38238 L1018 R Y- Y
AL [ ¢ REE -
LTI Rl o RAFY(-)254 1068 E R EATAERGFLG CRFREFY () FTRHSF V() TN
FVCE)AEFTFV(- )23, 38F -
CRET o RAFY(Z)2F A 105 F E R EATTAG L A CREHEF Y (C) TAKET YV (C) > RS HIF
FVE)AFTFV() 55358+ 38F -




PE PR R B 106 EAT AR IFETI ARRG)EA 6 2

i y-oFE EE R
L EM | TEY TRy | THEY EETARETL ETHEETT
# B EpEEEF| P P ERrpEEREE| PP FrpEERE 2P EFrEEee
AV | A | A | A Y Al A |y A | A |y
M W PRy 2 [1 3 Mo r a2 |1 3
Ay =
8 %
FE
e
e
s A2
*or
#
" ZHPHE 33
5:'» Mo amgRy 213
Y i
i
E\/
b 4
BY A2
B2
#
H o FELI R Ao 33| [§Eupzliik i3 |3 TEfRRT |2 |13
i B O o 3t 33 2225 %33 ARIERF 2R 3 [3
g;’g TH1REE 33 T 3 # 33
B FEERR? S 33
i< w = i 4l 33
2% KD RAET v 213
v A2
® 7
21
F
T 1tk [3 |3 i+ 8 33| |2 ¥ % 433 FETEFERS 33
i Mm% 33 [rARYGE®R)-[1 ] 1 TEAE RE33 A kipie 313 (3 |3
1‘{"1?(%”)’3 3 (M R #1313 MmOk P33
LEF AV (-) 3 (0 |3 |d#ci~id 4% (3 (3 RFID # /3 |3
FrRA®LAE(-) 303 |Redprki 33 AT % 2 PEE (3 |3
BT ER 33| [tiemereie(3 3
T OB 33| 6w Ep 33
RARYGFE)- 1| |2 €k sk 33
RAFEEH)= 3] 3 Mok 1 A 33
= B Ak 33 RFID % 33
5 s Ezi s 33
M ARV (FE)Z 1 1
E RARTEM=(3 | |3
i FHFRAY)CE)3 0 |3
Eﬁﬁjz&%ﬁ(:) 310 |3
BEEET V()3 | 3
*“.’W:ﬁ‘w’? ¥ (-)3 3
*TEEMEY(-)3 3
AEFBT V()3 3
BHEET Y () 3] |3
*?’%ﬁxf‘w? ¥(=) 3 3
FREHET V() 3 3
FAEFBTV() 3 3




